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Question Number : 1 Question Id : 3354727531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which darn is built on the Narmada river approx. 10 km from Punasa village in Khandwa district in Western
Madhya Pradesh? | @1 &7 s UiES! 722 Wdar H Fear el o QAT 0 & T 10 TerrT g8 THaT 78T 0T s 7T 7

Options:
1. ® Halali Darm | STl =
= ® Jobat Dam | i&e &

2. ¥ Indira Sagar Darm | Sl 90 &

4 ® Tawa Damm | JaT =

Question Number : 2 Question Id : 3354727532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the world farmous Ajanta Caves situated? | Tover WieRg /a7 & BN Fg] 60T 87

Options:

1. ¥ Madhya Pradesh | Feawdar
2. ® Uttar Pradesh | 3000

= % Crissa | I=MT

4 ¥ Maharashtra | AgRIE

Question Number : 3 Question Id : 3354727533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who made the first discovery of an asteroid from an Indian Observatory in the 20th Century? | 20 @ @ar #
W 127 e aTelT & U Sg o1 ugell @i fope o 7

Options:

1. ¥ R Rajamchan | ST TFTAET
2 % MKV Bappu | UH. a0

3. % ]C Bhattacharya | < ®1 Wgw=md
4, % N.C. Rana | U=.&LTmT

Question Number : 4 Question Id : 3354727534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which type of sugar is found in milk? | 3o # T T Y T O A 87
Options:

1. % Fructose | TefadeT

2. ¥ Lactose | greemET

2. ® Glucose | ZTa-eT

4 #® Sycrose | aeERT

Question Number : 5 Question Id : 3354727535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

n which dav in April 1919 did the Jalianwalla BEagh massacre, one of the worst political cru'ﬂes 111 modern
history, tale place? | G:TEIF«r 19149 ﬁ?‘ﬁﬁrﬁ?\mlmmmm El'I'JT-H'HEI( mgﬁ'oﬁsﬁ‘smﬁmw T =T T @ ST
e FoT 477

Options:
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1. % 7 april | 7 3

2. ¥ 13 April | 13 am&
. % 19 April | 19 ama
4. % 23 April | 23 abA

Question Number : 6 Question Id : 3354727536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Tnternaticnal Labour Day’ day Day) is celebrated o

T Ty T AT AT

of every year. | ‘sfaeigia & feaw (7 Teaar,

Options:

1.9 1stMay | 1 A%
2. % ond May | 2 HE
3 % SrdMay | 3 7E
4, % 4th May | 4 A2

Question Number : 7 Question Id : 3354727537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

4ll speeches made in the House of People are addressedto _____________ .| AT T | e my gt e #
F FITET T T &1

Options:

1. ® The Prirme Minister | WA

2. ¥ The Speaker | ey

= % Minister for Parliamentary Affairs | 992 #19 A4l
4. % Respective Ministers | S8 #aT

Question Number : 8 Question Id : 3354727538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwho was the first 1071~ founder CEO of Infosys who o resigned leading to a public debate over corporate
ZOVErnance? | Teh e o Unol T-FeToed S5 &1 & Frgi ®ite Mae U% AT ogd o 56 %7 o, Toar?

Options:

1. #® Ajay Piramal | 374 URTAA
2. ¥ Vishal Sikka | Torame R
3. # Sachin Bansal | @M 96

4. % Rahul Singh | TIga ¥4g

Question Number : 9 Question Id : 3354727539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Central Bureau of Investigation cormes under which ministry of Union government? | $aia A= sqi! &g
T o Tope HATA o laTid SaT Be

Options:
1. # Ministry of Home Affairs | T 9349

2 ® Ministry of Law & Justice | T 9T =21 HATA
=, ¥ Ministry of Personnel, Pension and Public Grievances | @iH®, D9 307 diF [&@ad A3&T
4. % Ministry of Finance | 799 7@
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Question Number : 10 Question Id : 3354727540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is India’s first oil refinery in 19017 | FEAGET § & 29 1901 § Gitd ¥wg &1 qgdf oo

Options:

1. % Digboi Refinery | T2wmaig foprgae
2. % Chennai Refinery | Iigg fowTg-1
3. #® Vishakhapatnam Refinery | fdemamgam wear

4 ® Guwahati refinery | Tamge! REET

Question Number : 11 Question Id : 3354727541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who armong the following Indian musicians has won a Grammy Award? | e ard = aiaer § § fra 19
Options:

1. ¢ Zakir Hussain | ST ga

2. % M.5. Subbulakshmi | A% THEIST GegrgH!
3 % Pt Ronu Mazurndar | 0. 39 BHER

4 % 5P Balasubramaniarn | S0fd TEatreg@T aegemrad

Question Number : 12 Question Id : 3354727542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following districts is known for production of opium? | FefaET FBat # @19 a1 anbw gomeT &
AT AT AT B

Options:

1. ¥ Shivpuri | Taege
2. ¥ Mandsaur | H2dw
3. % Sheopur | T
4. % Sidhi | #redT

Question Number : 13 Question Id : 3354727543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Narme the Prime Minister of India who was born in Madhva Fradesh? | A0 W& § T-0 o JTel YT & TeTTAAT 7
I TFTEL?

Options:

1. # Chandra Shekhar | == $9¢

2. % Atal Bihari Vajpavee | 3Td TEgWl amaudT
% % Rajiv Gandhi | Tl Tt

4. % P¥. Narasimha Fao | o & TRwgraa

Question Number : 14 Question Id : 3354727544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Athkhamba Temple is located at which place in Vidisha? | amagr Aley A A e w = e e

Options:
1. % Gyaraspur | TRHYT
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2. % Gopalpur | MU

3. % Melsa | Hedr
4. % Bagpur | 9T

Question Number : 15 Question Id : 3354727545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where is the Kapildhara Waterfall located? | SUeeRT ST HET 09T 27

Options:

1. % Ehedaghat | ¥=Ta

2. % Chachai | Z=ITE

3. ¥ amarkantak | SFREIE
4. % Pachmarhi | T=HE T

Question Number : 16 Question Id : 3354727546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where in Madhya Pradesh is Sawai Singh's Samadhi located? | Te@WSa § FaTs &g & q@Tre Fg1 e 87

Options:

1. ¥ Datia | Zi&=r
2. % Sheopur | TIRR

2. % Neemuch | A8
4 % Chhatarpur | Faeqt

Question Number : 17 Question Id : 3354727547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In ancient times, Agar-Malwa was capital of which empire? | WEN T H, TR A6 50 G164 &1 Tam=T €17

Options:

1. % Maurya | A
2. % Gupt | TH

2. % Parmar | WAR
4 % Chol | =&

Question Number : 18 Question Id : 3354727548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following was a popular visiting place of the Mughals for summer vacations? | FEieiET § & #1499t
T ST et & ToT gUe! S S v e aTe w4t

Options:
1.9 Agar Malwa | ST ATeaT

2. % Shivpuri | T9Eger
3. % Gualior | TETeRT
4. % Jhabua | T

Question Number : 19 Question Id : 3354727549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Baijnath Mishra Baiju Bawra) was a
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Options:

1. % Dhrupad | yUg
2. ® Khyal | @
3. % Tappa | 77

4. % Ghazal | THe

23rd Decl7 Shift 1

Question Number : 20 Question Id : 3354727550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

__________ does not border Madhya Fradesh. |
Options:

1. ® Gujarat | T

2. % Maharashtra | AgWIE

= ¢ Eihar | "gW
4. % Rajasthan | eI

_____ ol T, AW § w01 5% g &)

Zeneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472239
2

Online
Mandatory
20

20

20

Yes

No

1
335472239
Yes

Question Number : 21 Question Id : 3354727551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average monthly income of a family of four members is Bs. 5000, The head of the family retires and the
average comes down to Bs. 4000, What was the salary of the head of the family prior to retirement? | 9% d2eat

aTel ek UTCET ST ST AITeer & S000 B0 g1 UIET & Wi aTi-edd 51 +1d § oY sflad aimer 4000 #0 Wgel S { 3]

AT 519 & Ugel TR & W 7 - 4T a7

Options:

1. % Es 6000 | 6000 #03
2. % Rs. 8000 | 000
3. % Rs 7000 | 7000 T3
4. % REs. 9000 | 9000 T

Question Number : 22 Question Id : 3354727552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If 3x* — 6x2 + 10 =0, then (x?— 1) is equal to ./ Tfg 3xt—6x2+10=0, & (x2- 1)
% TR ¢
Options:
1. % 10
= %9
7
3= =
7
4 & 2

Question Number : 23 Question Id : 3354727553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

n 1

. U : 5L nox :
The value of nin_m+ s+ 5=cpist / cptet s =m0 Hn FIAFE:

Options:
1. %3
2 %5
3. %6
4 &7

Question Number : 24 Question Id : 3354727554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Th%ﬁ%ﬁ%w of a cubical vessel of inner side 10cmis ___ cu.crr. | 10 ST aTer ST =T o U 9= U & 8ar ___
T

Options:

1. % 100
=z ¥ 1000
3 % 10
4. % 1

Question Number : 25 Question Id : 3354727555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value of %, when 2x + 4 = 26. | x % AF ST UIT AN, A 2% + 4 = 26 FAT A

Options:
1. % 22
2 ¥ 11
2. % 10
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4 ® 13

Question Number : 26 Question Id : 3354727556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the sum of 20 consecutive odd nurmbers starting frorm 17 | 1 & & 54 16l 30 WHTTT T&9H =i F7 I
FT S TP

Options:
1. % 20
2. % 900
2% 500
4 % 90

Question Number : 27 Question Id : 3354727557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | 3T e

22,55, 45, 24, =24
Options:
1. % 33
2. % 32
3. % 35
4 ¥ 36

Question Number : 28 Question Id : 3354727558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ina fraction F = p/q, if the denorminator is decreased by 3, the fraction is equal to 173 and if & is added to the
nurnerator then the fraction becornes 1/2. The fraction Fis___ | UF W9F = p/q ¥ AL g0 ®I1 3 ¥ we@ A@1 g, 74
W 1S F RS AT s afg sl A S ARTIa e ai g 12 gradra g ____ 8

Options:

1.% 11/24
2. W 724
3. % L1z
4 % 71z

Question Number : 29 Question Id : 3354727559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A& shopkeeper keeps two types of detergents. Type [ is 10 kg at the price of Bs. 45 per kg and type I1 is 8 kg at
the rate of 5. 50 per kg. He mixes both together sells at a total profit of Rs. 68, At what rate did he sell the
mixture per kg? | UF EHeR & U 2 W & f2evie 51 Ugell WA, 45 & wid oo & T 10 T aﬂ?gﬂw
S0 w2 wid T @ Tare & 8 R 1 38 g Eese @7 e 68 20 i Fel @1 OT o 1837 31 36 59 e R

Foper o & ST 27

Options:

1. % SORs. | 500
2 ¥ S1Rs | 51o0F
3. % 49Rs. (49 7
4 ® 48 Rs (48 T
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Question Number : 30 Question Id : 3354727560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

01 a twenty—question test, each correct answer 15 worth 5 points, each unanswered question 15 worth 1 point
and each incorrect answer 15 worth O points. Which one of the following scores is NoOT possible? | qEEEﬁHH%r
TATAT TG H, Aoaieh |ET 3¢ 5 &l 1 g, Woddeh SIqeied WeF 1 &id 7 § &% Wodeh Ted 3¢ O Sl 7 g1 Hafeiaa sl § & 2
T T |9 51 57

Options:

1. % 390

2. % 91

3% a2

4. ¥ 93

Question Number : 31 Question Id : 3354727561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 40% of a number is subtracted from the number given 30, then the nurmber is: | Al T g1 § § I6! g7 BT
40% T AET & T 30 WIH §1aT 5, TE 9T 5

Options:
1. % 40
2. % 70
3. ¥ 50
4 % 320

Question Number : 32 Question Id : 3354727562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The respective ratio in the present ages of Ramesh and Jayesh is 3:2. Four years ago, Ramesh's age was rmore
than Javesh's age by & years. What is the gresent age of Jayesh? | THS oI S99 &1 ad A= A | 3:2 F1 Faled
SUTT 21 I Y UEe, THE &1 AT 4 T T | 6 oY ey ol Sy & ad 0T g T 87

Options:

1. % 18 vears | 15 a9
2. ¥ 12 vears | 1299
% % Gwyears [ 6 aW
4, % 10vears | 10 a9

Question Number : 33 Question Id : 3354727563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Surabhi sold a washing machine for Rs. 9499 at a gain of 15%. Find the cost price of the washing machine. |

T+ e ST 7 T 15% & AT 0% 9,499 T3 § s2m andm gt &1 @ g5 S we
Options:

1. # Rs. 8000 | 8,000 704

2. % Rs 5100 | 8,100 w0

% ¥ Rs. 8260 | 8,260 704

4 ® Rs 8300 [ 8,200 T

Question Number : 34 Question Id : 3354727564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If each a%gle of a polygon is 120 degrees, then the polygon is____. | T# =gg= ®1 Wed@ FI07 120 TS0t § 97 a5 agg

Options:

1. % Hexagon | 9=
2 % Pentagon | T
3. % Qctagon | SEE
4. % Decagon | SR

Question Number : 35 Question Id : 3354727565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 345E7EE is divisible by 2, then the value for B is

Options:
1.%1
2 %3
2.V 5
4 #® 7

| AT 34567EE, 36 & ISv=a § 9T E & FiU A=

Question Number : 36 Question Id : 3354727566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

: ) : g 27
The 2017 decimal in s after the decimal pointis ./ GHAT EY TdTd, 00 H

20177 ErHAT gl

Options:
1.%0
2 %7
3. V2
4 % g

Question Number : 37 Question Id : 3354727567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1212 + 1292 =7

Options:

1. ® 32482
= ¥ 31282
3. % 21382
4. % 21264

Question Number : 38 Question Id : 3354727568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Th;é;erimeter of a rectangle is 60 . If the length is twice its breadth, then its area is; | U#F AT T UieATT 60 |
B e, /TS, SHE AISE o ST 5, 91 SHFT 56 &
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Options:
2
160 m2 / 160 HY
1. E 3
2
180 m2 / 180 AT
oo
2
200 m?2 / 200 FY
= o
2
100 m2 / 100 HT
4 %

Question Number : 39 Question Id : 3354727569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of six numbers is 20, If the average of first four nurmbers is 25 and that of 1last three numbers is
35, then what will be the fourth number? | & gEarsi &7 sfiqd 30 F1 Al werd = gEarsit #7 s6d 25 S sfidw §1
Tt T 35 7, 97 50 & Tteft wgar g g

Options:
1.9 25

2. % 30
3. % 35
4. % 40

Question Number : 40 Question Id : 3354727570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the total number of factors of 72, | 72 % 0 B21 &1 el GEAT AT F)

Options:

1. % 12

2. % 10

=% B

4 ¥

General Hindi

Section Id : 335472240
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section I1d: 335472240
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WTHT & g ®F TUT W T A1 T el ST ___ EEEICIE

Options:

1. % |igeg
o ® fEm
3. ¥ ST
4, % T

Question Number : 42 Question Id : 3354727572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e H U T B ST STAT e Toa 9T R a7
Options:

1. % auf

2 ® fowig

= o af g

4 % oof gfdr e

Question Number : 43 Question Id : 3354727573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Meg Aleld AAT STAR O AT o 1547 197 5, 39 Fgd 5-
Options:

1. % TR

o, % FuEn

3. ¥ ST

4, ® SegTad

Question Number : 44 Question Id : 3354727574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“FAT AT FCAG 57 A ar g _______ Tl 59 AT | T T W IR T @i

Options:

1. % &

2 % g

z ® aft

4. g1

Question Number : 45 Question Id : 3354727575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1.v9
=z %o
3 %9
4, % q

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 46 Question Id : 3354727576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘gt & Uil e # S A g

Options:

1. % aHT
2 % g4t
3 ¥ EAr
4 % For

Question Number : 47 Question Id : 3354727577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT FF AT AGT & W o U e Mg A A A AT E?
Options:

1. % amar

2 ¥ e

3. % apud

4 B FAE

Question Number : 48 Question Id : 3354727578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T @7 §f fdede Py A g e are?
Options:

1. & fug+amea

= R TF4ame

2 % U+ e

4 R TOg4ard

Question Number : 49 Question Id : 3354727579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FIEAA g Mg T e R are?
Options:

1. % g4r

2. % gdd

3 % T

4 ¥ a7
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Question Number : 50 Question Id : 3354727580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

F IUET | 5T e FH U H @A 87
Options:

1. g

2. % wHEaT

3 % wanf

4 % wiig

Question Number : 51 Question Id : 3354727581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“ArIET feg H T H # @ 91 9HE 57

Options:

1. % Joqey 9Hg
2 % TmremnE

2 ® gy |ue

4. ¥ iy gu

Question Number : 52 Question Id : 3354727582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘i gerr grrat T e FE A g wm argy
Options:

1. % Hfgger

o, & HIeE AT

3. % arfE ga AT

4 % FUET

Question Number : 53 Question Id : 3354727583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘e T g ® T H R A e
Options:

1. v #Hgd

2 ® gl

2 % gy

4 % wHizgaf

Question Number : 54 Question Id : 3354727584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“FEd Aed LT e, e e At
W AT H Fd &, A 51 |f a1l
T R H g H S E T AT a2y

Options:

1. %
o ¥ g T
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. % gy
4 % g

Question Number : 55 Question Id : 3354727585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

EAM @l 0F H @1 = 9T S
T FaT o T2, T = i

H I AT SFw R 51 T8 fowed gimu?

Options:

1. % §dy sAaw

o, ¥ fd e e
3 % U SEET
4 % IAF AAFE

Question Number : 56 Question Id : 3354727586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T T Sreq T few e 4 i H & T - e

Options:

1. % uegpld AT & o0 Ted F27 s &l

2. % g foreamet v & ATeeaT & dar et 8

3. ¥ 9ol uda, 2R, Ue-ute widgs uiiedat § ot sz w2 wd 8
4. ¥ g OT & FAN T FARE ATAT B TAZaT 8

Question Number : 57 Question Id : 3354727587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T ATHT TS SOEE I T T B 39 AT # E wa @ B

Options:

1. % Ty
2 % T
3. % [IgamT
4. ¥ TR

Question Number : 58 Question Id : 3354727588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
3 Heg wr ey -
Options:

1. % oz fgar

2 % it

3 ® e

4 ¥ Mg

Question Number : 59 Question Id : 3354727589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘AGHE W AHE-TE0E daEy
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Options:
1. gl & JAHE g9
2. % TIgHT W
3. ® TTRT g
4, % AT FT

Question Number : 60 Question Id : 3354727590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEIT-GT - 56 Jegr B W w7 e O & ar g @7 enf g -

Options:

1. % gt

3. % T g H UL

4. ¥ OEfaar

Fural Econorry and Panchavati Eaj

Section Id : 335472241
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472241
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the amount given for construction of toilets at Gram Fanchavat level under Swachh Eharat Scheme? |

TTH U=Tad ¢ UF T ARG AT o ST Seerg st o foid eaT amerist nar & AT &
Options:

1. ¥ Rs.12000(-

2. % FEs 10000)-

3. ® Es.8000)-

4. ® FEs E2000)-

Question Number : 62 Question Id : 3354727592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When did Gram Swaraj Yojana cormmence in Madhya Pradesh? | Reaudsr § UTH T D1 el HE F57
Options:
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1. % 26 January 2000 | 26 =T, 2000
2. % 31 March 2002 | 31 #=, 2002

% ¥ 26 January 2001 [ 26 a1, 2001
4. % 1 April] 2003 | 1 &, 2003

Question Number : 63 Question Id : 3354727593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The application to become a Kisan Mitra is subrritted to

T ST 8

Options:

1. % MNearest Gramin Krishi Vistar Adhikari | Tread | T i Eear sl
2. % Department of Agriculture | FT 2T

% % Gram Sabha | TTH &4

4, % agricultural Produce Marketing Cormmittes | % Je7e o= qiafT

Question Number : 64 Question Id : 3354727594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The mainstay of Madhya Pradesh’s econory is: | Ty Ues &1 eriieea T §&T o &

Options:

1. % IT Sector | AT ao-1F &
2. ¥ Agriculture | FH

3. % Industries | JEMT

4 % Trade | =™

Question Number : 65 Question Id : 3354727595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The chjective of Swarnajayanti Gram Swarozgar Yojana is to provide
E‘%‘ERT: ___________ T T %1

Options:

1. # Self employrment in urban areas | 9Ed §31 # TEREATT

2. % Employment opportunities in cities | el # TR & 276t
= ¥ Self emplovment in rural areas | WHIT 831 # w27 =0T

4. % Emplovment in government organizations [ Ge@ gnat § TR

| T T TTH Fa i T T &

Question Number : 66 Question Id : 3354727596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AS per Unicn Budget , what 15 the targeted t:overage (percentage of cro ped area) under Prirme Minister Fasal

Birna Yojana for the year 2017-187 | gl &g & SRJaW, a4 2017-18 & 60 WeaH= T e s 0T T & Siaiid e
ATET Tt (FeeT &7 ®T WG9 57

Options:
1. % 20%

o 8 30%
3 ¥ 40%
4 #® 5oy
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Question Number : 67 Question Id : 3354727597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Wwhat percentage of the amount will be locked for 4 years in Pradhan Mantri Garib Kalyan Yojana 20167 |
Hﬂﬂﬂ%ﬁmﬁ' TRAAT 2016 H (718 &7 T = Wiadard 4 a9 & T30 &7 gime

Options:

1. ® 75%

2. % 509

3 ¥ 25%

4. % Mo armount | HIE PRI T8

Question Number : 68 Question Id : 3354727598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
15 the main rubber producing state in India. |

URT U Te2 HT Jeule @i ara] §ed 14 gl

Options:
1. % Kerala | &d

2. % Maharashtra | AgRYE

3. % Tarmil MNadu | ﬁﬁlﬂg

4 % Uttarakhand | Iqa0@s

Question Number : 69 Question Id : 3354727599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Fradesh Bhoodan Yagna {Mirsan) Adhinivam Act was enacted in_______ | W A g O ()
arteErt-ram @ piy T T 2

Options:
1. % 1962

2. % 1978
3. % 19383
4 ¥ 1992

Question Number : 70 Question Id : 3354727600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Eﬂmxer%e? is Directorate of Soyabean Research located in Madhya Pradesh? | Tear nasr # SR @™ HoaTea #gr

Options:
1. % EBhopal | 9TA
2. ¥ Gwalior | T

3. % Jabalpur | S&EAYL
4 % Indore | 32

Question Number : 71 Question Id : 3354727601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Madhya Pradesh cotton is cultivated mostly in? | Aea w2 # Tread wume &t T deet s1ieem gt 27

Options:
1. ¥ Red soil | & ot
2. % Green soil | gel TgT
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3. ¥ Elack soil | ®Tar 0T
4 % Browr soil | g fHET

Question Number : 72 Question Id : 3354727602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the primary role of Rajya Krishak Ayog in Madhya Pradesh? | Tea e # T=0 9% ST 61 TRITHE giiwT

T EY

Options:

1. ® Providing agriculture materials | Y ST AZH #CAT

2. % Doing agricultural research | W amer &7

3. % Developing agriculture technology | FiY W iTeRT o7 Hwme #ear

4 ¥ Studying farmers’ concerns and challenges | TRt &l wreamaer o gl ®7 srea< #r

Question Number : 73 Question Id : 3354727603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which armong the following is an oil seed? | FERRT Ao S AT UF dA ST 57

Options:

1. ® Clove | &

2. % Garlic | #ggT

= % Ginger | sEXE

4 Groundnut | HEaAT

Question Number : 74 Question Id : 3354727604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under which one of the following Acts, local self governing institutions were first formally introduced in

mmm?dem India? | WEHET # 9 S5 9§ SMEi-em & Tgd, S Tavr Gera w1 smeiew TG H Uge! a1 siuTiid € 6 JF
TIT 417

Options:

1. % The Government of India Act 1919 | ART TER ATE-TH 1919

2. % The Government of India Act 1935 | 98T @@FR =90 1935

3. # The Panchayat Raj Act 1993 | T=MT T STE=ad 1993

4 % panchayats (Extension to Scheduled Areas) 1996 | W0 (sFgRT &1 1 Beam) 1996

Question Number : 75 Question Id : 3354727605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the approsx. number of Gram Panchayats in the country as of October 20177 | S9H affgaR 2017 T
AT et T U= 57

Options:

1. 262 lakhs | 2.62 @/
2. % 1131akhs | 1.13 71
% % 184lakhs | 1.84 AT
4 % 10lakhs | 1.07™E

Question Number : 76 Question Id : 3354727606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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MNo. of candidates trained under Deen Dayal Upadhyaya Grameen Kaushalya Vikas Yojana for 2016-17 is

lg?etween 7 | ST T JUTEAT NTHI WA T T o &g, 2016-17 # B Aot arvrteier @ g wea T

Options:

1. ¥ 1to15lakhs | 19157
¥ 16t02lakhs | 16d 27

3 % 21to25lakhs [ 2.1 925d4

4 ® 2Eto3lakhs | 263 AT

Question Number : 77 Question Id : 3354727607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The objective of Rainfed Area Development Programme is to; | aui- T8 &7 e sded o7 J599 9 517 &

Options:

1. ® Redirect excess rainwater to other areas | Sifdiedhd oul <6 ®I 374 =1 § qg==T

2. % Do cloud seeding for bringing more rains | 2189 eui @ & 0 FA13 G2 F
% % Rainwater harvesting for drinking water | U= 9 & ol a8 F6 d=a-

4 ¥ Minirmizing clirmatic problerns for productivity increase | SUTgmdl sigl- & Tl Aoteg Herelt aReamst § FH1 &1

Question Number : 78 Question Id : 3354727608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wornen Food Security Groups (FSGs) consists of: | AT el e THE (ThIE-TE) § i &

Options:

1. % any group of wormen | Wigemal 7 @1 o @Ug

2. % Women engaged in catering | i @@ | ATTHA AlAT

= Wormen farmers only | @ Algdl e

4. % Women engaged in cooking | AT THT ® BT F a6 AledATT

Question Number : 79 Question Id : 3354727609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which among the following is provided with special assistance under Mission for Integrated Development of

Horticulture? | aaET & TererTer & Toiy Ther & afaTia g o & Tore [3tde a5 nee femar Amar 27
Options:
1. ¥ Individual farmer | =TT fFae

2 Wornen Farmers Groups | AigdT [ adqg !

2. % Agricultural labourers | @iHgT mg
4. % a1l horticulture farmers | 947 amEET Rt

Question Number : 80 Question Id : 3354727610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhat is the percentage of allocation of funds for wormen farmers under National Food Security Mission? [ TEE

T qO4T THIH & d5d Al a1 o [o] ATaied o @7 Hid < T 87
Options:

1. % 10%

= % 20%

3. ¥ 30%
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4. % 40%
Cornputer Enowledge

Section Id : 335472242
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472242
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the name of the first computer network? | Tgel FLYLT Aaddr BT A0 FAT &7
Options:

1. ¥ ARPANET

2. % BITHET

3. % MILMNET

4 % CSMNET

Question Number : 82 Question Id : 3354727612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A part of the computer that can be physically touched is called ______ | R T A 9T e fid e w g e
TS, FEAET 3l
Options:

1. ® Peripheral | UeIhea

2. ¥ Hardware | T84t
3. % Application | TOATRST
4, ¥ Software | 9T

Question Number : 83 Question Id : 3354727613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

____________ is not an output device. | ____________ T ATITYT 1EaT5H 51 8]
Options:

1. ® Printer | TUex

2. % Monitor | AT

= ¥ Mouse | ATIT

4 % Speaker | G
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Question Number : 84 Question Id : 3354727614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The superscript (Ctrl+shift++) operation in M5 WORD does which of the following function? | TR 928 #
R (Ctrl+shift-++) s MoaiafET 8 & w19 91 @7 #5727

Options:

1. ® Does nothing | 9 951 #4dT g

2 ¥ Create small letters above the line of text | e & A5 & FUT FIE T3 a1 &
3. % Close the window | 2! Feir ®dr g

4 % Enlarge the window space | et qua @ agT#ar s

Question Number : 85 Question Id : 3354727615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DOS based spreadsheet package is: | DOS aTeied qusdie T g

Options:
1. ¥ Lotus 1-2-3 | diR| 1-2-3
2 % Spread PRO | §US W7

3. % Excel | ggHd
4 % Srartsheet | AR AT

Question Number : 86 Question Id : 3354727616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

on selecting a word and pressing SHIFT +Fr, __________ tool opens up in MS Word 2007 | AT 92 2007 '
IS ey Holehe F AN SHIFT + F7 SaW O, U __________ Tl GelaT gl

Options:

1. ¢ Thesaurus | B
2 ® Citation | dgead
3. % Caption | Fqae

4 % Glossary | TEATEr

Question Number : 87 Question Id : 3354727617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A comnputer that requests the resources or data from other computer is called as
AT ST W | A AT 20T T AT FATE, ______ TEAET 2l

Options:

1. % Seryer | gdv

2 ¥ Client | FAET

________ cornputer. | @ WEt

3. % Complier | FHYAT
4, ¥ Operating Systermn | SR Eeq

Question Number : 88 Question Id : 3354727618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the smallest unit of storage? | ®19 €T SIS GTI &1 el BIT ZaHTS 27

Options:
1. * Kilo byte | oAl ATET
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2. % Eyte | 98T
z. ¥ Eit | faT
4 % Nibble | e

Question Number : 89 Question Id : 3354727619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
key. | T _____ T SR WG] Ue 221 B JIET & 9 2l

You can edit existing Excel data by pressing the
Options:
1. # F1
= ¥ F2
3. % F2
4 % F4

Question Number : 90 Question Id : 3354727620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich one of the f'ollowing shortcut kews is used to save a docurrent in M3 Word 20077 | THIE g2 2007 |
AT § & o a1-we =1 1 v STegHe TaT w % o T T g

Options:
1. % CTRL + 5

2. % CTREL+ 0O
3. % CTREL + C
4. % CTRL + 1N

Question Number : 91 Question Id : 3354727621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_______ i3 not a file extension. | _____ % BIEd JHacyT 51 8
Options:

1%t

2 % doc
3 % ylsy

4 W teut

Question Number : 92 Question Id : 3354727622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an exarnple of page orientation? | 7907 # & Fa7 U= s %7 0% IO E7

Options:
1. ¥ Subscript | Feieede

LA

2. % Superscript | GUIEHETE

3. ¥ Landscape | #Eq@d
4. % a4 a4

Question Number : 93 Question Id : 3354727623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

23rd Decl17 Shift 1



23rd Decl7 Shift 1

The 1main SCreen area the%g:nu see after you turn on your computer is called ______ I [ I L) GNHTW' ;T
T &, do G b U e ey S g, HEAMT g —
Options:

1. % Start Menu | 28 B

2. ¥ Desktop | 2%

3. % Operating Systern | TR s
4. % windows XP | fHE P

Question Number : 94 Question Id : 3354727624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which file format cannot be added to a Word doCurment? | ®19 d1 b5 BTHC 98 S19gHe H A51 AST T GFdT 57

Options:

1. % gif
= ¥ kpz
3 % ipg
4. % png

Question Number : 95 Question Id : 3354727625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Virus are______ | AETE R

Options:

1. ¥ An authorized software | STERET ATFcaw
2. % Desired attribute | g HemaT

Z. ¥ Man Made | AFg AT

4. % Machine made | A HHT
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 96 Question Id : 3354727626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which was the last version of M5-DOS that was released separately? | MS-DOS HT o F14 T 17 Taa0r o7 B
SIGATT AT T T2 17

Options:

1. %50
Z ® B0
3 % EB11
4 ¥ 522

Question Number : 97 Question Id : 3354727627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The computer size was very large in the: | 58 HIET H HIE &7 ATHFT S5 G951 51a7 2T

Options:

1. % First generation | U5 HiEr

2. % Second generation | gERT UG
% % Third generation | Ftaer HiET

4. ® Fourth generation | =it i@
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Question Number : 98 Question Id : 3354727628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_______ keystroke 15 used to 2o to the top of the M5 Word docurnent. |
Herd T A o Ty Terrm AT 8

Options:

1. % Ctrl + Home
Z % Ctrl + End
3. % Top

4. % Escape

g Ieh T Wi A 92 Ziaeds #

Question Number : 99 Question Id : 3354727629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& hardware device that allows a computer to send and receive data over a telephorne line or a cable or satellite

connection is called __________ .| TF FIEdOR TZETSH AT HET F el A A5 AT dee AT SeAlge F-gad Ut 2T Hibd
T AT T e ST s, TEATT &
Options:

1. ® Router | ¥Tde7
2. % Modem | AlZH
% % Switch | &=
4. ® Cable | tad

Question Number : 100 Question Id : 3354727630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is used to measure and line up objects in the MS Word docurnent? | TAUH a2 Tagie § aagal & am- ot

Options:
1. ¥ Ruler | ®7¢

2 % Gridlines | W=aETq

3. % Docurment Map | STqdes i
4 % Thurnbnails | dHeE-ad

-

23rd Decl17 Shift 1



